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QUESTION 1

Which formula is appropriate for calculating target port Queue Depth?

A. The number of LIFs using a physical port * 256

B. The sum of the Queue Depth setting for all hosts using a physical port

C. The number of LIFs using the physical port * Maximum Host HBA Queue Depth setting
D. The number of physical ports * 2048

Correct Answer: C

QUESTION 2

Changes to your organization requires access to an SVM be given to a group of individuals. Your company uses Active
Directory as a method of access control. You decide to use the security login create -vserver engCluster - user-or-group-
name CORP\Admins -application ssh -authmethod domain -role vsadmin command.

In this scenario, which access rights will this command grant?

A. read only rights to the SVM engCluster for Active Directory group CORP

B. vsadmin rights to the SVM engCluster for Active Directory group CORP\Admins

C. vsadmin rights to the SVM CORP for Active Directory group CORP\Admins

D. vsadmin rights to the SVM engCluster for Active Directory group CORP

Correct Answer: B

QUESTION 3

How do you configure the iISCSI-SendTargets datastore when the datastore is provisioned from NetApp storage?
A. You must configure jumbo frames when SendTargets-based iSCSI is used.

B. Use static discovery to add the target IQN.

C. Use dynamic discovery to add the target IQN.

D. You must configure a single protocol on the SVM when SendTargets-based iSCSI is used.

Correct Answer: C

Reference: https://www.vmware.com/pdf/vsphere4/r40_ul/vsp_40_ul_iscsi_san_cfg.pdf (37)

QUESTION 4
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The ESX host reports inconsistent performance for iISCSI-based connectivity. In this scenario, what would cause this
problem?

A. The host and storage are connected to different switches.
B. The flow control was disabled on the storage.

C. The hardware initiators were used instead of software.

D. The flow control is enabled on the storage.

Correct Answer: B

QUESTION 5

An administrator wants to design an NVMe solution to connect Linux hosts to an ONTAP cluster. The proposed solution
uses two Cisco MDS 9396T switches for each fabric in a top-of-rack design.

In this scenario, which statement is true?

A. Asymmetric Namespace Access requires ONTAP 9.4 and higher.
B. NVMe solutions require heterogeneous multiple switch fabrics.
C. N_Port ID virtualization (NPIV) must be enabled on all switches.
D. A middle-of-rack design is required.

Correct Answer: C
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